
PACK P/M
1 Board #1 (w/Screws)(472x59x15mm) P369-615 R72254 Plastic 2 K P
2 Board #2 (w/Screws)(668x65x15mm) P369-615 R72255 Plastic 2 K P
3 Board #3 (w/Screws)(795x65x15mm) P369-615 R72256 Plastic 2 K P
4 Board #4 (w/Screws)(884x65x15mm) P369-615 R72257 Plastic 2 K P
5 Board #5 (w/Screws)(945x65x15mm) P369-615 R72258 Plastic 2 K P
6 Board #6 (w/Screws)(983x45x15mm) P369-615 R72259 Plastic 2 K P
7 Board #7 (w/Screws)(1002x65x15mm) P369-615 R72260 Plastic 2 K P
8 Board #8 (w/Screws)(1005x65x15mm) P369-615 R72261 Plastic 1 K P
10 Wicker (20 LF) P369-615 R71073 Plastic 1 G P
11 Leg (710x90x90mm) P369-615 R71074 Metal 4 K M
12 Adjustable Leveler (1/4inx20mm) P369-615 R71075 Plastic+Metal 4 G P
13 End Cap (D=25mm) P369-615 R71076 Plastic 4 G P

14 Hardware Pack P369-615 R71077
1/4inx15mm Allen Bolt (16)

1/4in Lock Washer (16) 
1/4in Flat Washer (16)      
4mm  Allen Wrench (1)

1 G P

15 Grommet Cover P369-615 R71078 Plastic 1 G P
16 Grommet P369-615 R57584 Metal 1 G P

SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. December 2021 Page 1 Of 2

REPLACEMENT PART DESCRIPTION FORM

MRP#

MODEL #: P369-615
FACTORY USE ONLY!!

PART# DESCRIPTION USED ON: MATERIAL QTY.



MODEL #: P369-615
REPLACEMENT PART DESCRIPTION FORM

December 2021All Rights Reserved.SIGNATURE DESIGN BY ASHLEY® Page 2 Of 2

11

12

8

1

9

7

6

2

3

4

5

10

13

14
15


